Second Homework Assignment

             (Associative Computing Slide Sets)
Important: Copies of executions must be included for all working programs. If evidence is NOT included in what you hand it that shows your program is working, it will be assumed to be non-working. Working programs on this assignment is essential to receive a top level homework grade.
1. Provide a partial trace the ASC Minimal Spanning Tree Algorithm (not the ASC program) given in the slides for Associative Computing, Part 1. This trace should show the value of each of the parallel and scalar values in the data structure used at the end of each of the first three passes through the loop (see Fig 6 on slide). Note: As a check, you should obtain the values in the data structure in my slides at the end of one of the three passes through the loop.
2. Download the ASC compiler and emulator (or locate a machine that already has these available. I recommend use of the Windows version. Also, download the , the shapes.asc ASC program and the data file shapes.dat and then execute the Shapes program to obtain the intermediate code, shapes.iob, the ASC list file shapes.lst and the output file shapes.out.txt. Produce a printed copy of your program, the data file, and the files produced during execution to hand is as your solution to this problem. 
3. Correct the ASC program for the MST in the slides for associative computing in slides for Associative Computing, Part II. Add documentation to this program to show the purpose of each step. Clearly indicate where you added code to correct the problem and what your added code does. Test your program by showing that it runs correctly on the data used for the MST ASC program in the slides. Additionally, test your program on two additional data files that you created to make sure that you have corrected all of the problems in the original code and to show your program works correctly. You may use either numbers or letters for node names. Additionally, extend this program to include the following two features:
a) Produce a printout of the data read 

b) Print the edges of the minimal spanning tree produced. 
Produce a printed copy of your program and of its printout to include with your homework, but send me an electronic copy of your program with “PDC Problem 2.3” as your email subject line. 

4. Create an ASC algorithm for Dijkstra’s Single Source Shortest Path Algorithm.  This algorithm should be done using a data structure similar to the one used in Problem 3 above.  Then do a hand trace (as in problem 1) of your ASC algorithm using the graph used in Associative Computing, Part II.  
